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Note: 1'his cluestion paper contains t\\o parts A and B.
Part A is cornpulsor)/ whiclt carries l5 ntarks. At.tstiet'all qLrestions in Part A.
Part B consists o1' 5 Units. Ausrver anv one full qLrestion fiorn each unit.
E,ach qLrestion carries 10 rnarks and ura1,'have a. b. c as sub questions.

PART - A

I.a) Wlrat are the features olJava langLrage?
b) E,xplain the types of operators used irr .lava.
c) What is static inner class?
d) Erplairr implicit and expiicit irrpori staternent.
e) Erplaiu the drffurence s betu,een process and thread.
I) Lrlllairr hori a rrrultiple catclr staiernL'nt \\orks.
g) Explain the use of string tokenizer u,ith an exarnple.
h) Explain any tlrree methods defirred b1 iterator.
i) Explain the use ol layourt ntanagers.
j) Explain the life cvcle olan applet.

PART'- B
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2 a) Describc the diffelent tr pc: of data t_r pe\ used in .lar a.

bt \\ rite u progranr to con\elt tlrc tcrrpcrature irr Fulrrerrhcit t,r centi!.rade. l5-5]

-i a) Cclnrlrarc and contrast betu,een tt.,.OoT"rtouairrg and or'erricl ing rrethods r,i,ith arr

tr) il:Jl"j:r,, prosrarr to disptar tlre tbltou,in* oi,,r.,, [5-5]
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4.a) Erplain the importance olanonyrnous inner class u ith alt erarrple
tr) \\/rite a program to find the sun.r of the giv'en rtr-unber.
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5 a) What is.java package? \Vhat is CLASSPATHT Erplain ho\v to create and access a

java package u,ith an erample.
b) Create an interf'ace rvith at least one rnethod and irnpleinent that interlace by

u'ithirr a method u,hich retunrs a refererrce to voLlr interface [5+,5]

:



6 a) \\ rrtc a prograrr lbr user delrned erception that checks tlre irrternal and erternal
rnarlis i1'the internal marks arc greater than -10 it raisc the erception ''internal

rlarlis are erceed". it'the erternal rnarks are greater tlran 60 exception
i: r'ai..'d artd tl r:plar the rttessage tltc "exlental rnark. are crcced".

ht Fr[13i11 tlresrnrhrorrizationrrrcthodsrritharrerample. i5t5l
OR

7.a') Write a prograrr to inrplement a producer and consunrer probleur b1, usine
rrr"rltitlrread ing.

b) Erplain tlre-java built in exceptions. [,i-5]

tl a) Write a progranl to cor.npute an averaqe ot'the values in a flle.
trt l:xplairr tlre rnetlrods delirred br Nlatlr 15-51

OR
c).a) Lixplain tlie dilfererrt tl pes of drrvers used in JDBC.

tl) Write a progranr to store the narles of bank depositors and their cLlrrent balances
bl,irsinu, haslr table. [5+5]

l0.a) \\irite a.java progranr to dcsign a scientiflc calculator usins A WT,

b) What are the drff'erent tr pes ol Event listeners supported bi -java'7 [5 ]-5]

I i.a) Write a progranr using an appJet r.r,hich ri,ill prirrt ''l(cv pressed" orr the status
\\lindoiv rvlren rou press the liev. ''ke1'released" on statlls r'vindorv lvhen you
releasc tl-re liel' and u,hen )'oLr t)'pe the characters it should print
"hello" at co-ordinates (50.50) on Applet.

b) Explarrr the various comllonents in Swing. [5+5]
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